it & B # =
1. EARBIEDRM

(Bifz: M)
X % BEOIESE | atREME | LEfEMmEE LHER AR | HiRIREMER
AR T 1,183,993,200 1,183,993,200
EY 244,326,352 208,625,000 19,596,703 433,354,649
2318 & 20,250 20,250
HARBAEET 1,428,339,802 208,625,000 19,596,703| 1,617,368,099
2. BEEEDREM
(Bfz: M)
X 4 BEEOIEE | PAaiREMEE | LHjEmniE LHERRAEE | HIRRSEMER
YBEEE HFHEEES 57,048,109 35,060,873 21,987,236
Y ERTE M 0 550,840 550,840
YBEEER 57,048,109 550,840 35,060,873 22,538,076
3. 5| Z1MDERA
BEE55|14%
(Bfiz: M)
- LHRR A EE -
: MEES | LHEmE AREE
# B HEES L HAEINZ SRR Faym AR 7%=
BEE5|4E 249,333 660,667 249,333 0 660,667
BE#RFTEISE
(Bfz:[M)
- LR %8 -
: ) =) L HAtENZE -1 =
# B HEES L HAEINZ SRR Faym AR 7%=
BEREA T
kA 1,167,067 189,899 0 0 1,356,966
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